Three Digit X One Digit Word Problems
1) If Riley eats 5 biscuits a day, how many biscuits does he eat over 234 days?
2) Mr Mackin wants to replace the school’s footballs. Each football costs £9 and he wants to buy 134 footballs. How much will this cost Mr Mackin?
3) There are 126 sweets in one large jar. How many sweets are there in 4 large jars?
4) Mrs Hignett needs to order some new whiteboard pens for the school. She orders 254 boxes of whiteboard pens Each box costs £7. How much will this cost Mrs Hignett?
5) Maria watches 4 TV programmes every day. How many TV programmes does she watch over 365 days?
6) A bird eats 154 seeds each week. How many seeds does the bird eat in 6 weeks?
7) A dog shelter buys 841 tins of dog food. Each tin costs £2. How much did it cost the dog shelter all together?
8) A museum in London receives 983 visitors a week. How many visitors do they receive in 3 weeks?
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